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   АВС – равнобедренный

                                      АС - основание 

                                      BD -  высота.
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BCD
Доказательство:

Рассмотрим  
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 _____ - _______________, т.к. BD - _____________________

1. _________________________________________

2. _________________________________________
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_____ равны по ________________________________________________
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   АВС – равнобедренный

                                      АС - основание 

                                      АD и CЕ -  высоты.
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CЕА

Доказательство:

Рассмотрим  
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 _____ - _______________, т.к. __________________________

1. _________________________________________

2. _________________________________________
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_____ равны по _________________________________________________
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Найдите равные треугольники и докажите их равенство
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